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Accident and Incident Rates

To calculate Accident and Incident Rates as per the Health and Safety Executive (HSE), you typically use the Incidence Rate formula. This is a standardised measure to compare accidents across different organisations or periods of time. Below are the steps and formulas for calculating these rates:
1. Accident/Incident Frequency Rate (AFR)
The Accident Frequency Rate measures how often accidents occur over a period, based on the number of hours worked.
Formula:
Accident Frequency Rate (AFR) = (Number of Reportable Accidents) x 1,000,000
                                                                      Total Hours Worked

· Number of Reportable Accidents: These are the accidents required to be reported under RIDDOR (Reporting of Injuries, Diseases, and Dangerous Occurrences Regulations).
· Total Hours Worked: Total hours worked by all employees over the time period you're calculating for (usually one year).
· 1,000,000: Used to scale the rate per million hours worked.

2. Accident/Incident Incidence Rate
The Incidence Rate measures how often reportable accidents occur per 100,000 employees.
Formula:
Accident Incidence Rate (AIR) = (Number of Reportable Accidents) x 100,000
                                                            Average Number of Employees

· Number of Reportable Accidents: As above, these are accidents that are reportable under RIDDOR.
· Average Number of Employees: The average number of employees in the company during the year.
· 100,000: A scaling factor to standardise the rate.

3. Lost Time Injury Frequency Rate (LTIFR)
This rate measures the frequency of accidents that result in lost work time due to injuries.
Formula:
Lost Time Injury Frequency Rate (LTIFR) = (Number of Lost Time Injuries)x 1,000,000
                                                                                  Total Hours Worked

· Number of Lost Time Injuries: Number of injuries resulting in one or more lost working days.
· Total Hours Worked: The total number of hours worked by all employees over the given time period.
· 1,000,000: Scaling factor to give the rate per million hours worked.

4. Severity Rate
This rate shows the severity of accidents by taking into account the total number of lost workdays.
Formula:
Severity Rate = Total Number of Lost Workdays
                               Total Number of Accidents

This helps measure the overall impact of accidents on the organisation by reflecting how severe the injuries were in terms of lost productivity.

Example Calculation:
Let's assume:
· Number of reportable accidents: 5
· Total hours worked: 1,000,000
· Average number of employees: 250

Using the formulas:
1. AFR:

AFR=(    5.    ) × 1,000,000 = 5 accidents per million hours worked 
      1,000,000
 
2. AIR:

AIR = (  5  ) ×100,000=2,000 accidents per 100,000 employees
            250
These rates help companies understand their accident trends and benchmark themselves against industry standards.

Useful References:
· RIDDOR Reporting: HSE requires certain types of accidents and incidents to be reported under RIDDOR regulations.
· HSE Guidance: HSE provides guidelines on how to calculate accident rates and keep track of workplace incidents effectively.





Disclaimer:
This document was created with the assistance of Artificial Intelligence (AI). While the content has been generated and reviewed for accuracy and relevance, it is essential that this document be thoroughly reviewed by a qualified professional before implementation or use. The AI-generated content may require adjustments to ensure it fully aligns with specific legal, regulatory, or organisational requirements. The responsibility for verifying the accuracy and appropriateness of the information contained within this document rests with the user.




1
ST-AI 2024 V1
image1.gif




